Algebra2 Bellwork  Tuesday, December 16, 2014

1t. What 1s the sum of the 2 solutions to the equalion
X" =2y |5=0?

A, -8
B. -2
G 2
D. 8
E. IS

13. How long, in minutes, would it take a car o travel
I8 miles at a constant speed of 45 miles per hour?
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15. For the area of a square to triple, the new side length
must be the original side length multiplied by what
number?
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16. In the right triangles below. PO is 4 cm. OC is 3 em.
4B is 8 cm, and BP is 5. How long, in cm, is AQ?
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The operation @ is defined by the following:

asb=2-a+b+axb

Y

For example, 263=2-243+2x3=0.
Ifg=-7and b=2.thenash "
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1. What 1s the sum of the 2 solutions to the equalion
X =2 [ 8=

A, -8 —3) (¥43) =0
B2 (X )¢ | S+53=71
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E. 15

13. How long, in minutes, would it take a car to travel
18 miles at a constant speed of 45 miles per hour? t JC,
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15. For the area of a square to triple, the new side length

must be the original side length multiplied by what
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16. In the right triangles below. PO is 4 cm. OC is 3 cm.
ABis 8 cm, and BP is 5. How long, in cm, is AQ?
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25. The operation = is defined by the following:
asb=2-a+b+axb

For example, 2©3=2-2+3+2%x3=9.
[fag=~-7and b=2.thenash =7
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